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5XPDK�6DNLW�8PXP�'DHUDK��568'��6RUHDQJ�PHUXSDNDQ�VDODK�VDWX�UXPDK�VDNLW�
PLOLN� SHPHULQWDK� \DQJ� EHUORNDVL� GL� NDEXSDWHQ� %DQGXQJ� GDQ� EHUDGD� GL� EDZDK�
QDXQJDQ� %DGDQ� .HVDWXDQ� %DQJVD� GDQ� 3ROLWLN� �.(6%$1*32/�� .DEXSDWHQ�
%DQGXQJ� 'HQJDQ� MXPODK�SDVLHQ�GDQ� WHQDJD�NHUMD�\DQJ�EDQ\DN��568'�6RUHDQJ�
EHOXP�GLGXNXQJ�ROHK�VLVWHP�LQIRUPDVL�\DQJ�PHPDGDL��7LGDN�DGD�VLVWHP�WHULQWHJUDVL�
\DQJ�PHPEDQWX�SHUWXNDUDQ�GDWD�DQWDU�ELGDQJ�GL�UXPDK�VDNLW��3HUWXNDUDQ�GDWD�VHFDUD�
XPXP PDVLK� PHQJJXQDNDQ� FDUD PDQXDO GHQJDQ PHQJJXQDNDQ� NHUWDV� VHEDJDL�
GRNXPHQ�ILVLN��$UVLS�DUVLS�GRNXPHQ�WHUVHEXW�WHQWXQ\D�DNDQ�PHPDNDQ�ELD\D�\DQJ�
EDQ\DN�GDQ�WHPSDW�\DQJ�OXDV�VHKLQJJD�WXPSXNDQ�WXPSXNDQ�DUVLS�GRNXPHQ�DNDQ�
VHODOX�WHUOLKDW�SDGD�UXDQJDQ�NDQWRU�568'�6RUHDQJ�

(53� PHUXSDNDQ� NRQVHS� \DQJ� PHQJLQWHJUDVLNDQ� VHOXUXK� NHJLDWDQ� SURVHV� ELVQLV�
VXDWX�LQVWDQVL�DWDX�SHUXVDKDDQ�DJDU�SURVHV�\DQJ�WHUMDGL�VDOLQJ�EHUNHVLQDPEXQJDQ�
GDODP� PHQFDSDL� WXMXDQ� GDUL� VXDWX� RUJDQLVDVL�� (53� PHQ\HGLDNDQ� VROXVL� XQWXN�
SHQJHORODDQ�GDWD�GDQ�LQIRUPDVL�NRPSOHNV�\DQJ�EHUMDODQ�GL�UXPDK�VDNLW�

3HQHOLWLDQ�LQL�EHUIRNXV�SDGD�SHUDQFDQJDQ�VLVWHP�(53�GL�ELGDQJ�SHQJHORODDQ DVHW�
SDGD� EDJLDQ� ,QVWDODVL� 3HPHOLKDUDDQ� 6DUDQD�	� 3UDVDUDQD�5XPDK� 6DNLW GL 568'�
6RUHDQJ� GHQJDQ� PHQJJXQDNDQ� VRIWZDUH 2GRR� PRGXO� $VVHW� 0DLQWHQDQFH GDQ�
PHWRGH�4XLFN6WDUW��+DVLO�GDUL�SHQHOLWLDQ�LQL�DGDODK�VLVWHP�(53�\DQJ�EHUMDODQ�SDGD�
NHJLDWDQ�DOXU�SHPHOLKDUDDQ DVHW�SDGD�568'�6RUHDQJ \DQJ�WHULQWHJUDVL�SDGD�EDJLDQ�
LQYHQWRU\ GDQ�SXUFKDVLQJ UXPDK�VDNLW�

.DWD�.XQFL���.HVHKDWDQ��568'�6RUHDQJ��(53� 2GRR� $VVHW�0DLQWHQDQFH��,QYHQWRU\
0DQDJHPHQW��4XLFN6WDUW


